

#### MATERIALS MANAGEMENT DEPARTMENT

101 OLD VENICE ROAD

OSPREY, FLORIDA 34229

TELEPHONE (941) 486-2183

FAX (941) 486-2188

#### **MEMORANDUM**

**TO:** Members of the School Board

Lori White, Superintendent

Mitsi Corcoran, Chief Financial Officer

FROM: Pat Black, CPPB, Director of Materials Management

TITLE: APPROVAL TO AWARD BID #11-0020 FOR CABINETRY HARDWARE

**AND MATERIALS** 

Bids to provide 'Cabinetry Hardware and Materials' were received from seven vendors on January 26, 2011. The bids of Dixie Plywood, Wilsonart, and Wurth Wood Group were the best low bids meeting the advertised specifications. Reasons for not selecting the apparent low bids are included with the bid tabulation. This bid is for a period of one year with the option to renew for two additional one-year periods. The funds for these purchases are contained in the capital budget allocated to the Facilities Services Department.

Requested by: Jody Dumas

"Failure to file a protest within the time prescribed in Section 120.57(3), Florida Statutes, or failure to post the protest bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under Chapter 120. Florida Statutes."

Posting Date: 03-29-11

Not to exceed \$75,000.00

**Funding:** Operating

**Recommended Motion:** That the bids of Dixie Plywood, Wilsonart, and Wurth Wood Group, to provide 'Cabinetry Hardware and Materials' in an amount not to exceed \$75,000.00, be approved for award and purchase.

Tabulation for Cabinetry Hardware and Materials - Bid #11-0020

		A 124 1		y Dixie Plywood		Lars, LLC dba HIT		Quality I	
		Accredited	Lock Supply	Dixie P		· · · · · ·	C dba HII	Specialt	
Item		Current	Less %	Current	Less %	Current List	Less %	Current	Less %
#	Item and Description	List Price	Discount	List Price	Discount	Price	Discount	List Price	Discount
CABI	NETRY MATERIALS								
				\$24.47		\$24.74			
1	3/4" Birch plywood D4 - 4' x 8' or approved alternate			Import	1%	81-750	5%	\$43.00	10%
	Indicate Alternate Bid:								
	indicate Alternate Bid.			\$19.20		<b>\$40.05</b>			
2	1/2" Birch plywood D4 - 4' x 8' or approved alternate			Jmport	1%	\$19.95 81-746	10%	\$31.00	10%
	1/2 Birch plywood b4 - 4 x o or approved alternate			IIIIport	1 /0	01-740	1070	ψ51.00	1070
	Indicate Alternate Bid:								
				\$11.20		\$16.95			
3	1/4" Birch plywood D4 - 4' x 8' or approved alternate			Import	1%	81-744	25%	\$19.00	10%
	Indicate Alternate Bid:		1		I				T
4	3/4" Birch plywood (shop grade) - 4' x 8' or approved			\$47.60		\$19.95	•••	<b>*</b>	400/
	alternate			Domestic	1%	81-752	0%	\$81.00	10%
	Indicate Alternate Bid:		I						
5	1/2" Birch plywood (shop grade) - 4' x 8' or approved			\$40.96	40/			<b>\$74.00</b>	400/
	alternate			Domestic	1%			\$71.00	10%
	Indicate Alternate Bid:			404.00					
6	1/4" Birch plywood (shop grade) - 4' x 8' or approved			\$34.99	1%			\$49.00	10%
	alternate Indicate Alternate Bid:			Domestic	1%			\$49.00	10%
7				¢40.00	40/			<b>\$64.00</b>	100/
7	3/4" Sandi plywood - 4' x 8'			\$40.99	1%			\$64.00	10%
8	1/2" Sandi plywood - 4' x 8'			\$30.30	1%			\$45.00	10%
9	1/4" Sandi plywood - 4' x 8'			\$9.60	1%			\$24.00	10%
10	3/4" Sandi plywood - 4' x 8' - w/white plastic laded up 1 side/Wilson Art 1573			\$56.00	1%			\$90.00	10%
	SIUC/WIISUIT AIL 1373			φ <b>5</b> 0.00	1 70	\$9.95		φ30.00	1070
11	30" x 120" durabase/white hardboard			\$7.60	1%	81-126	18%	\$15.00	10%

Tabulation for Cabinetry Hardware and Materials - Bid #11-0020

	Rugby I.P.D. Corp.		Wilson	art Int.	Wurth Wood Group		
Item	Current	Less %	Current	Less %	Current	Less %	
# Item and Description	List Price	Discount	List Price	Discount	List Price	Discount	
CABINETRY MATERIALS							
4 O/All Birch who would D4 All w Ol on organization the sector	<b>#04.00</b> -	-11					
1 3/4" Birch plywood D4 - 4' x 8' or approved alternate	\$24.26 a	sneet					
	3/4 (18n	nm)					
Indicate Alternate Bid:	R.C. White E						
2 1/2" Birch plywood D4 - 4' x 8' or approved alternate	\$18.74 a	sheet					
Indicate Alternate Bid:	1/2 (12n R.C. White B						
indicate Alternate blu.	R.C. Wille	bildi C-2					
3 1/4" Birch plywood D4 - 4' x 8' or approved alternate	\$10.12 a	sheet					
	1/4 (5.2r						
Indicate Alternate Bid:	R.C. White E	Birch C-2		I			
4 3/4" Birch plywood (shop grade) - 4' x 8' or approved alternate							
Indicate Alternate Bid:							
5 1/2" Birch plywood (shop grade) - 4' x 8' or approved							
alternate							
Indicate Alternate Bid:							
6 1/4" Birch plywood (shop grade) - 4' x 8' or approved alternate							
Indicate Alternate Bid:							
7 3/4" Sandi plywood - 4' x 8'							
8 1/2" Sandi plywood - 4' x 8'							
9 1/4" Sandi plywood - 4' x 8'							
10 3/4" Sandi plywood - 4' x 8' - w/white plastic laded up 1 side/Wilson Art 1573							
11 30" x 120" durabase/white hardboard	\$9.32						

Tabulation for Cabinetry Hardware and Materials - Bid #11-0020

				Accredited	Lock Supply	Dixie P	lywood	Lars, LL	Lars, LLC dba HIT		Quality Plywood Specialties, Inc.	
CABI	NETRY MA	TERIALS - Continued										
12	Wilson Art	plastic laminates 4' x 8' VT D30 alı	mond			\$23.68	1%	\$23.95 WD30- 60-48	0%	\$46.00	10%	
13	Wilson Art	plastic laminates 4' x 8' STD D30 a	lmond			\$33.28	1%			\$55.00	10%	
14	Wilson Art nebula	plastic laminates 4' x 8' VT 4622-60	) grey			\$30.72	1%			\$63.00	10%	
15	Wilson Art nebula	plastic laminates 4' x 8' STD 4622-	60 grey			\$40.96	1%			\$76.00	10%	
	nce of Line I	Percentage Discount from List Price	e for									
16		percentage discount from list price for naterials not listed above.	or similar			1	%			10	1%	
CABI	NETRY HA											
Item #	Part #	Item and Description	Yearly Quantity	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	
17		3-1/8" cable hole cover	300					\$2.93	\$879.00			
		Indicate Manufacturer and Part Number:							Hardware ts 43-796			
18	3703	Grass snap-on hinge with dowel each	1,200					\$1.45	\$1,740.00			
								11-	-47.4			
19	10767-17	Grass snap-on baseplate each	300					\$0.75	\$225.00			
					Г		1	11	-458		T.	
20	6668	Grass snap-on baseplate with euro screws each	1,200					\$0.62	\$744.00			
								10191-21 11-482				
21	81001	Grass 6 x 5/8" flat head screws box of 1000	10					\$12.70	\$127.00			
								Hardware Concept 19-666				
22	81015	Grass euro screws 13mm length each	3,000					\$0.06	\$180.00			
								11	-183			

Tabulation for Cabinetry Hardware and Materials - Bid #11-0020

				Rugby I.P.D	. Corp.	Wilson	art Int.	Wurth Wo	od Group
CABI	NETRY MA	TERIALS - Continued							
12	Wilson Art	plastic laminates 4' x 8' VT D30 al	mond	\$.70 / \$2 per she	eet	\$0.55			
13	Wilson Art	plastic laminates 4' x 8' STD D30 a	\$.95 / \$3 per she		\$0.78				
14		plastic laminates 4' x 8' VT 4622-6		\$1.15 / \$3 per she	36.80	\$1.15			
15	Wilson Art nebula	plastic laminates 4' x 8' STD 4622-	60 grey	\$1.40 / \$4 per she		\$1.50			
	nce of Line I netry Materi	Percentage Discount from List Price	e for						
16	Minimum percentage discount from list price for similar cabinetry materials not listed above.					0%	6		
Item			Yearly		Extended	11 % D :	Extended		Extended
#	Part #	Item and Description	Quantity	Unit Price	Price	Unit Price	Price	Unit Price	Price
17		3-1/8" cable hole cover Indicate Manufacturer and Part Number:	300					\$2.71 4299	\$813.00 9342
18	3703	Grass snap-on hinge with dowel each	1,200					\$1.39	\$1,668.00
					1		T	GR70	1
19	10767-17	Grass snap-on baseplate each	300					\$0.67 GR10	\$201.00
20	6668	Grass snap-on baseplate with euro screws each	1,200					\$0.56	\$672.00
					T			GR00	6668
21	81001	Grass 6 x 5/8" flat head screws box of 1000	10					\$7.14	\$71.40
					1			SC10	)740
22	81015	Grass euro screws 13mm length each	3,000					\$0.08	\$240.00
								GR13:	39843

Tabulation for Cabinetry Hardware and Materials - Bid #11-0020

									Quality Pl	ywood
				Accredited	Lock Supply	Dixie Plywood	Lars, LL	C dba HIT	Specialtie	s, Inc.
CAB	CABINETRY HARDWARE - Continued									
23	01687-05	Grass divider rails 20/box	4				\$45.00	\$180.00		
						<u>,                                    </u>	01690-05	Grass File Rail	1	
							For 510 S	lide 25-854		
24		Grass side rails 20/box (96776)								
	505		4				\$40.00	\$160.00		
							25	-720		
25	6150-01	Grass front rail clip 20/box	4							
26	6110	Pendaflex profile rails 20/box	4				\$53.60	\$214.40		
								Grass File		
								ng 25-858		
27	6150-02	Grass back rail clip 20/box	4				\$12.40	\$49.60		
								-746		
29	6180-01	Grass divider rail clip 20/box	4				\$25.00	\$100.00		
								30954-05 Grass Lateral		
							File Clip	25-860		
30	6200/510	Grass full extension slide 10	40				<b>#</b> 400.00	<b>#4</b> 000 00		
		sets/box	10				\$129.00	\$1,290.00 -774		
24	0000/540	Cross drawer sides 10 sets/hov	10							
31	6036/510	Grass drawer sides 10 sets/box	10				\$100.00	\$1,000.00 -748		
	0005/540									
32	6035/510	Grass drawer sides 10 sets/box	5				\$120.00	\$600.00 -788		
	0000/540	0	40							
33	6236/510	Grass drawer sides 10 sets/box	10				\$149.10	\$1,491.00		
24	0400/540	0	40					-780		
34	6436/510	Grass drawer sides 10 sets/box	10				\$230.10	\$2,301.00		
0.5							25	25-781		
35		3" brushed chrome wire pulls each	2 000	\$4.64	\$9,280.00		\$0.82	\$1,640.00		
		Indicate Manufacturer and Part	2,000		305D-3"		The state of the s			
		Number:			-US26D		Liberty P604DA-SC-C1 35-550			
36		3-1/2" brushed chrome wire pulls		010	00200		35	330		
		each	800	\$4.64	\$3,712.00		\$0.88	\$704.00		
		Indicate Manufacturer and Part		Hager 3	305D-31/2"		Lik	perty		
		Number:		CTC-	-US26D			-556		

Tabulation for Cabinetry Hardware and Materials - Bid #11-0020

				Rugby I.P.D.	Corp.	Wilsonart In	t. Wurth We	ood Group
CABI	INETRY HA	RDWARE - Continued						
23	01687-05	Grass divider rails 20/box	4				\$38.00	\$152.00
							GR01	69005
24	6100-02 505	Grass side rails 20/box (96776)	4				\$36.80	\$147.20
								577605
25	6150-01	Grass front rail clip 20/box	4				\$9.40	\$37.60
							GR96	36039
26	6110	Pendaflex profile rails 20/box	4				\$45.60	\$182.40
							GR30	89005
27	6150-02	Grass back rail clip 20/box	4				\$13.20	\$52.80
							GR96	571942
29	6180-01	Grass divider rail clip 20/box	4				\$13.40	\$53.60
							GR96	677039
30	6200/510	Grass full extension slide 10 sets/box	10				\$104.70	\$1,047.00
							GR12	275904
31	6036/510	Grass drawer sides 10 sets/box	10				\$9.70	\$907.00
		REJECT						285204
32	6035/510	Grass drawer sides 10 sets/box	5				\$110.80	\$554.00
				ı				212404
33	6236/510	Grass drawer sides 10 sets/box	10				\$138.40	\$1,384.00
				-				270603
34	6436/510	Grass drawer sides 10 sets/box	10				\$206.00	\$2,060.00
35		3" brushed chrome wire pulls each	2,000				\$0.49	\$980.00
		Indicate Manufacturer and Part Number:	_,000					SCS26D
36		3-1/2" brushed chrome wire pulls each	800				\$0.54	\$432.00
		Indicate Manufacturer and Part Number:		_			BP867	CS26D

Tabulation for Cabinetry Hardware and Materials - Bid #11-0020

				Accredited	Lock Supply	Dixie P	Plywood Lars, LLC dba HIT		C dba HIT	Quality Plywood Specialties, Inc.	
CAB	NFTRY HA	RDWARE - Continued		7 tool outloo	Look Gappiy	DIXIO	ly iroou	Laio, LL		Opoolait	100, 1110.
37		Bright nickel steel shelf support spoon	10,000					\$0.03	\$300.00		
		Indicate Manufacturer and Part Number:							vare Concept -170		
38	SP2A-14	IVES elbow catch aluminum 20/box	300	\$34.60	\$10,380.00			\$49.00	\$14,700.00		
									ffele -128		
39	BS-27-SD	3M clear door bumpers 2mm 450/card	5					\$10.95	\$54.75		
								2mm Bum	e Concepts per 450/card -250		
40	BS-1-SD	3M clear door bumpers 1/8" 56/card	2					\$1.95	\$3.90		
		REJECT						Hardware Concepts 1/8" Bumper 50/card 21-254			
	nce of Line I	Percentage Discount from List Price are	e for								
41	Percentage not listed a	e discount from list price for Grass plove.	oroducts								
42	discount fr	manufacturers and a minimum perd om list price for miscellaneous cabi products not listed above.	-								
Cont	act Name:			Robin L	Cherkes	Norma	n Huffer	Michae	l Dennett	Chris Sc	hwagler
Addr	ess:				terson Plank Road	6509 Po	well Road	1575 Catt	lemen Road	4500 110t No	
				Secaucu	s, NJ 07094	Gibsontor	n, FL 33534	Sarasota	, FL 34232	Clearwater	, FL 33762
Phor	ie:			201-8	865-5015	800-28	32-8581	941-3	71-5238	727-57	2-0500
Fax:				201-8	65-0030	813-67	7-7938	941-3	71-5846	727-57	2-1778
Fede	ral ID#:				054109		57530		03789	59325	
E-Ma	E-Mail Address:			<u>lerkes</u> lock.com	<u>ndhuffer</u> @dixieply.com		mdennett@hardware imagination-tech.com		chriss@quality plywoodspec.com		

			Rugby I.P.	Corp.	Wilsona	rt Int.	Wurth Wood Group		
CAB	INETRY HA	RDWARE - Continued							
37		Bright nickel steel shelf support							
		spoon	10,000					\$28.75/1000	\$287.50
		Indicate Manufacturer and Part Number:						332A	NO
38	SP2A-14	IVES elbow catch aluminum 20/box	300					\$54.49	\$16,347.00
								2A92 \$9.10 \$45.50 BS27CLR450	
39	BS-27-SD	3M clear door bumpers 2mm 450/card	5					\$9.10	\$45.50
								BS27C	LR450
40	BS-1-SD	3M clear door bumpers 1/8" 56/card	2						
		REJECT							
	nce of Line netry Hardw	□ Percentage Discount from List Price vare	e for						
		e discount from list price for Grass	products						
42	discount fr	manufacturers and a minimum per om list price for miscellaneous cabi products not listed above.							
Cont	act Name:			Marty Na	ance	Jimmy K	leiner	Luis Mo	orales
Addr	ess:			7010 Benjam Suite 1	nin Road,	2414 Gelma		6211 North An	derson Road
				Tampa, FL	. 33634	Tampa, Fl	_ 33619	Tampa, F	L 33634
Phon	Phone:			813-888-	6824	800-432	-6057	813-887 Cell 813-4	
Fax:	Fax:			813-249-	6812	254-207-	-8848	813-887	7-1902
Federal ID#:			582506		39801275		56215		
	E-Mail Address:			mnanc @tampabay	<u>:e1</u>		Imorales   kleinej@wilsonart.com trend		<u>@wurth</u>
				'No Bid' received t		er corded by: Peggy	Long Witne	essed by: Joyce H	

#### THE SCHOOL BOARD OF SARASOTA COUNTY, FLORIDA Cabinetry Hardware and Materials - Bid #11-0020 Justification for Award to Other Than Apparent Low Bidder

Item #	Vendor	Justification
1	Lars, LLC dba HIT	Awarded to Dixie Plywood as the overall low for all plywoods as a category.
2	Lars, LLC dba HIT	Awarded to Dixie Plywood as the overall low for all plywoods as a category.
	Rugby I.P.D., Corp.	Awarded to Dixie Plywood as the overall low for all plywoods as a category.
3	Rugby I.P.D., Corp.	Awarded to Dixie Plywood as the overall low for all plywoods as a category.
4	Lars, LLC dba HIT	Awarded to Dixie Plywood as the overall low for all plywoods as a category.
14-15	Dixie Plywood	Awarded to Wilsonart Int., as the overall low (based on usage figures for items 12-15) for all laminates as a category.
14-15	Rugby I.P.D., Corp.	Awarded to Wilsonart Int., as the overall low (based on usage figures for items 12-15) for all laminates as a category.
22	Lars, LLC dba HIT	Awarded to Wurth Wood Group as the overall low for all hardware as a category.
27	Lars, LLC dba HIT	Awarded to Wurth Wood Group as the overall low for all hardware as a category.
	Wurth Wood Group	Vendor bid unit price incorrectly. Bid pricing withdrawn.
31	Lars, LLC dba HIT	All hardware awarded to Wurth Wood Products as a group. Reject item. No other bids were received.
40	Lars, LLC dba HIT	All hardware awarded to Wurth Wood Products as a group. Reject item. No other bids were received.